
1) Round 2.07 to the nearest 100

Answer: ____________

2) Solve by factorising 
x2 + 4x + 4 = 0

Answer: ____________

3) Find area of triangle
a = 80 in, b = 84 in

Answer: ____________

4) 3   3/4 - 5   1/2

Answer: ____________

5) 72 - 45.5

Answer: ____________

6) 5/78 of 234

Answer: ____________

7) 20 ÷ 10

Answer: ____________

8) An amount was increased by 8% to 
$365.00. Find the original amount.

Answer: ____________

9)
144

4 /8

Answer: ____________

10) 12 x 100

Answer: ____________

11) 82.6 - 38.2

Answer: ____________

12) Find perimeter of 
rectangle having 
sides a = 63 ft 
and b = 48 ft

Answer: ____________

13) 4000 ÷ 1000

Answer: ____________

14) Find the mode of the following set of data:

2, 2, 2, 2, 2, 2, 33, 33, 33, 33, 19, 
19, 19, 48, 48, 48, 48, 48, 4, 4, 4

Answer: ____________

15) Find area of square 
having each side (s)
equals 26 in

Answer: ____________
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16) Increase 242 by 1/121

Answer: ____________

17) Factorise 4s2 + 24s + 11

Answer: ____________

18) (10 x 88) / (5 x 7-1)

Answer: ____________

19) 25 - (-98)

Answer: ____________

20)
Find the next three numbers in 
the sequence
0,1,1,2,3,5,8__,__,__

Answer: ____________

Total: ___ / 20
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Answers:

1) 2.07 2) x = -2 or -2 3) 3360in 4) 33/4 5) 26.5 6) 15 7) 2

8) $337.96 9) 12 10) 1200 11) 44.4 12) 222ft 13) 4 14) 2

15) 676in 16) 244 17) (2s + 11)(s + 1) 18) 234881024 19) 123 20) 13,21,34,
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